frg—Efam wET— XI FEO—3.15 TveT

Gk i) AR AT Aot SiEE A T

EIE] U AR

EIGED] 50%% 20% 20% 10% 100%

TE AT | W WY | @ @ | g §ET | dF W | W d

[
o
- |
1
i
-
A
o
-

3. AT 5 ;| 1 2 10 1 10
4, e 75T — 1 10 15 15 B 5 g
5. TETeTe v — I B 2 12
. 3 2 : 3 3 g
7 3 3 2 5 12
B.

N ESER 36 50 43 70

Ae— 1. TE=¥0 T W@l 3 5 WoRd 9% + W — @ 99w wHd § e Re @1 |em R

2. e =9 § o uTem § T TWEde Y 0 = B

WO g7 3 T
farg—fam wET— XI FE9—3.15 °veT

JE—— T S — — == — — —

L | AW T @l & H R Fud | FAEdnder | Fod I
- -

L] T T 93T | TET

¥E 9N 10 10 50 10 70

2 AEg—2 g ™ k] 5 5 3
Rk

= o T e T9 HEmEen

T | 9EET 9 mEm

3. FETE—3 AT, O, Tl A el = 5 "

i

4 WG —4 WARS 1 mea 3 3




[=F]

.{I'

i

B 8 Fegeiae, Gy i T9eTd 7
_—'r:'__—,.:_q—..':',.:- e =
10 BHIT YEEHMA
/PR R B

Tl T SO Tl T

el He " 10 10 50

. . S S
TR B W TaaEn # 70% A T wied T H wWE
TETES 5 o = Fodl T 959 9% == F Tmieaters =R o




